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SOCIOLOGY (Theory)
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FrEer () 59 v o 8 oA 25 ug & | 9l e sifant §

(ii) UeT O 1 W 14 TF UAE UIT 2 bl BT & | IS BT SN HT 40 T
# qifvg |

(iii) TIT WAl 15 ¥ 21 0P TUd U 4 I @7 £ | TP P IO% T 100
g H T |

(iv) USH GEAT 22 ¥ 24 GF YHD UIT 6 bl F €| UAD BT SN oTHT 250
¥rE] H GIeTy |

(v) U T 26 ¥ WR MR €| TH U UB T SUYET ¢ Ie¥ 9y W
TET U SrERd &9, 9 SuneEi § U @ fou 2 ofw iR € uds
JUYLH B TN ST 40 =] § B |

(vi) " B SaR GAREd a9 u @ g 8 9y |

(vii) WIW 9T 9 URH HIfoT SR T a® @wd ofigd | 9 U F T 8 99 U
HAY 9 H Hif |

Instruction :

(i)  There are 25 questions in all. All questions are compulsory.

(11)  Question No. 1 to 14 are of 2 marks each, to be answered in about 40 words.

(iif) Question No. 15 to 21 are of 4 marks each, to be answered in about 100 words.

(iv) Question No. 22 to 24 are of 6 marks each. to be answered in about 250 wards.

(v}  Question No. 25 is based on passage. Sub questions asked on it are to be answered based
on the given passage. Each of the three sub questions is of 2 marks, to be answered in
about 40 words. :

(vi) Answers should be precise and to the point.

(vii) Start from the first question and proceed to the last. Do not waste time over a question
which vou can not solve.

1. el OIIf BT S W Bifod | 2
Clarify the meaning of ‘dominant caste’.
2. OENIBRU § Y o7 WOEd B 7 2

What do you understand by liberalization ?
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3. WIEAE g & 8 ?

What is community identity ?

4, dEHEH AT ASTEES B Hed SN ISy |

Differentiate between majority and minority.

5. PTG ¥ T ST E 7

What is meant by Sanskritisation ?

6. ﬁﬂ:ﬁ?ﬁ&ﬁﬁﬂﬂﬂﬂﬂ?ﬁﬁﬂ@%ﬁmﬁrﬁmﬁl

Give the impact of Secularization on Indian Culture.

7. 9Rd ¥ GEE GUR ARIEH @ HEe B Seeid iy |

Mention the importance of social reform movements in India.

8 99 U=rad & @ Ay g 7

What is meant by Van-Panchayat ?

9. &BRa wIfsa & 989 ¥ THeey |

Explain Green Revolution in brief.

10. faofore afremfieser &1 auarfea @ifeg |

Define planned Industrialization.

11. 3Enfiie 9 @1 B IR [Jeyar garsy |

Write any four characteristics of Industrial Society.

12. fasfaa wen fAemada aqra § R W Hifig |
Differentiate between developed and developing society.

13, ‘" e 5 Fea € 7 SRy wiwa oy |
What is ‘Mass Media’ ? Write with examples.

14, I MYTRE ST WSS =1l BT Sood Do |

Mention two class-based Social Movemenis.

15. HIgAY MR ARgas ¥ 991 ¥ & ¢ e difod |

What is the difference between matriliny and matriarchy ? Explain.

16. VEMNIHIT 7 HRATY 99K B fhe uer gaied f5ar & ? wasnsd |

In what way liberalization has affected Indian market ? Explain.

17. ‘gERER s 2005 R ool fafed |

Write note on ‘Right to Information Act-2005".
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18.

18.

20.

1

22

23.

24.

ARG AGpax § S, o $F o9 J9ad a3l & 7 gHened | 4

How does caste influence politics in Indian democracy ? Explain.

TG H WHE AT G BB W R ? aHengd | 4
What are the main rural problems in India 7 Explain.
AT REay H TE-HaR @ i er @ e S| 4

Discuss the role of mass-media in Social Change.

TgieRvig SRIad Ui nfde vd ygw @ Hgal @ ff W SoN "o 81 R
BT | 4

Environmental movements often also contain economic and identity issues. Discuss.

‘anfeard’ {5y wed € ? Wa | afeardt anaresr & fawer SR | 2+4=6

What is ‘Aadivasi’ ? Give description of Aadivasi movements in India.

24T (OR)

I faes gt s @ g e wed A fean W 8 7 fes ot @ arsieEn 3
ARG AT &1 6w yaR gt far 7

To which reference the word *other backward class’® is used 7 How did backward class movements
influence Indian Society ?

arel—TeTgar & @7 AMEg & ? uRa # are—foRgua @1 sIeg Bee arel BRa)
T g DTy | 2+4=6

What is meant by child-sex ratio ? Describe the factors affecting child-sex ratio in India.

3214l (OR)

"I @ Wil gfg & g & Rvargds wHsngd | 6

Explain in detail the Malthusian theory of population growth.

Al @ra # wRda el 3 "Eeyef RkadEl @ 9o P | 6

Describe important changes in Indian Society during colonial period.

312741 (OR)

airemfeERer aiR TN BT U AT 2 | g |

Industrialisation and Urbanisation are linked process. Discuss.
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25, Fr=feiRen e & eagds ufed i 39e ik Y T gl @1 oW SR —

Tl & a1 wY € Rrer goora qHeeievvr fAugs fef ff sparg & gFr @ifd | &
g : SU B A SR frifia w@wef | wivefos s @ 9w e afier
g SIS Sl qHvSHIeT & ufhar H, ¥y ®Y ¥ TR & U6 69 Y& He 6
uftbar #, 3T @ O %E B 1970 $ TUS GF Sqiad san TR @l gfg § v
e fraa w8 €1 ofs oW, wiRgfus SudmT (@en, @, veE, Wi, oden)
FREHTR TR B gfg BT UF HEHR TS Bl ¢ | I8 q2F ARG & @l a8 e}
feme fagh weri (@ifthn Afew), agfy REmER!, F9Re St R Somrer wel ©
e # e ol ¥ W g 2

(@) BUHTT BTGB o FT A § 7 2
(@) “RI @ afg # Soured SEE @ qHET B S B | 2
(M) R @ SR A wenfid g7 agRniy WeRl 9 WER gor @il | 2

Read the following passage carefully and answer the questions that follow —

There are two uses of culture that any chapter on globalisation should mention. They are the
culture of consumption and corporate culture. Look at the crucial role that cultural consumption is
playing in the process of globalisation especially in shaping the growth of cities. Till 1970s the
manufacturing industries used to play a major role in the growth of cities. Presently, cultural
consumption (of art, food, fashion, music, tourism) shapes to a large extent the growth of cities.
This is evident in the spurt in the growth of shopping malls, multiplex, cinema halls, amusement
parks and ‘water world” in every major city in India, :

{a)  What is meant by Culture of Consumption ?

(b)  Mention the role of manufacturing industries in the growth of cities.

(c)  Compare the traditional shop and the new departmental stores that have come up.

ok ok ok 3k ok ok
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